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Campi finiti

. Consideriamo p(z) = 2 + z + 1 e ¢(z) = 2* — x + 1 € F;[z]. Poniamo
K =TF;[z]/(p) e E = Fs5[x]/(¢q). Dimostrare che:

(a) K e E sono campi.
(b) K é isomorfo ad E.

. Consideriamo p(r) = 22+ 1 e ¢(x) = 2> + 2z + 1 € F5[z]. Poniamo
K =TF;[z]/(p) e E = I[%[x]/(q) Dimostrare che:

(a) K e E sono campi.
(b) K é isomorfo ad E.

. Consideriamo p(z) = 2> + z+1 e q(z) = 2* + 42 + 1 € F;[z]. Poniamo
K =F;[z]/(p) e E = F7[z]/(¢). Dimostrare che:

(a) K e E sono campi.
(b) K é isomorfo ad E.

Gruppo di Galois

. Calcolare il gruppo di Galois, Galr(K) con:

(a) F=Q(i) e K = F(¥/2).
b) F=Qe K =F(2+3).
(c) F=Qe K =F(e5).
(d) F=Qe K = F(Y2).



